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Instructions :

(1) Answer all the questions on the basis of internal options.

(2) Each question carries equal marks.

Discus the factors determinant agricultural productivity 14
in India.

OR
Explain the indicators of poverty. 14
Describe the present population policy of Government 14
of India.

OR
Explain the nature of poverty in India. 14
Discuss the characteristics of developing economy with 14

reference to Indian economy.

OR

Explain the measures taken by the Government during 14

planning period for poverty removal.
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4  Describe the remedies for increasing agriculture 14
productivity in India.

OR
4  Explain the responsible reasons of poverty in India. 14
5 Write short notes : (any two) 14

(1) Effects of population blast on Indian Economy.

(2) Effects of Poverty on various economic sectors in India.
(3) Human Development Index.

(4) Reasons for low productivity of Agriculture sector in India.
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